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KB � ����2�� y���� ��OE _� (X, ‖.‖) ���3+D 1�C�� �C�# JX(x∗) = 〈x∗, x〉

6��C 〈X, τ〉 2�� hC�# �� ��� G,E 
 ��� B � ����E 〈X, τ〉 �Y�@�#�� ��OE I:DI:I: H��+(
K�C�� +���#�� hC�#��2

�� U/�
 ����� x 2� U �!��8�� _� ����� ��C3�� ������ A ��
�� �.�� _� x I:>I:I: H��+(
K����3�� h���� int(A) �� 
 �����3�� A +
�� �� A ��
�� �S��� 4�� �34���)� K�C�� ��5�� A



[ 4�@
� F���H� K$

B � =��>� A ���8� K�C�� A ⊂ X 
 _�Y�@�#�� ��OE _� 〈X, τ〉 ���	 `�E I:KI:I: H��+(
2�

clA = A =
⋂

{F ⊂ X : KB � 4�8�F, A ⊂ F}.

4A,� _� x ∈ X =��S J�� �� 1�C�� _�Y�@�#�� ��OE _� 〈X, τ〉 ���	 `�E I:?I:I: H��+(
K (U − {x}) ∩A �= ∅ 4	 ��	 ;�)�� x ∈ U ∈ τ ��� G,E 
 ��� B � A ⊂ X ��N

��C3�� ������ J�ED M ⊂ X 4���)� 1�C�� ������ ��OE _� X ���	 `�E I;BI:I: H��+(
(�����

∀x, y ∈ M, ∀λ ∈ R : λx+ (�− λ)y ∈ M.

�A* �2�� x, y ∈ X �� ��2�34�1�C�� ������ �Y�@�#�� ��OE _� X ���	 `�E I;:I:I: H��+(
(F���3�� h���� ��2 =��S 4� �� y 
 x J�� 4�8�

{λx+ (�− λ)y | λ ∈ [�,�]} = [x, y],

(�C��3�� ��2 =��S 4� �� y 
 x J�� 2�� �A* �2�� 

{λx+ (�− λ)y | λ ∈ (�,�)} =]x, y[.

(����� ��C3�� ������ ;�-� Rn 2� X 4���)���2 I;;I:I: H��+(
∀x, y ∈ X, ∀λ ∈ [�,�] : λx+ (�− λ)y ∈ X.

��3��2�34� ����� B � ;�-� f : X → R U��� ���3+D 1�C�� ;�-� X ��� I;AI:I: H��+(
(F�C�� 4�C�� � � λ � � 
 x, y ∈ X

f(λx+ (�− λ)y) � λf(x) + (�− λ)f(y).

(����� B � ;�-�34>C f : X → R U��� ���3+D 1�C�� ;�-� X ��� I;7I:I: H��+(
∀x, y ∈ X, ∀λ ∈ [�,�] : f(λx+ (�− λ)y) � max{f(x), f(y)}.



& �2� 34��0� 
 �:��� X�@��D 1�Y�@�#�� 2� �����H� 
 P���:� K$K$

;�-� U��� ('K$ 6�C

K�C�� ;�-�34>C −f ��� G,E 
 ��� B � �:,�34>C f : X → R U��� I;JI:I: H��+(

(����� F���� z
�Q� �� C ⊆ Rn 4���)� I;DI:I: H��+(
∀λ ≥ �, ∀x ∈ C =⇒ λx ∈ C.

KC ∩ (−C) = {�} ����� F���� ���3x�� z
�Q� _� �� C ⊆ Rn z
�Q� I;>I:I: H��+(

���3x�� z
�Q� 
 z
�Q� h���� (%K$ 6�C

�C + C ⊂ C 	
� 
�� � 	
� ��� /01& 4�	5& 6� C ⊆ Rn 4�	5& I;KI:I: ��L(

z
�Q� 4��# _� {�X} �= C ;�-� z
�Q� 2� B �0���M 
 ;�-� 4���)���2 I;?I:I: H��+(
b ∈ B 
 λ > �_� ���� 1x = λb 
�E 4� ������ h���� x ∈ C \ {�X} �� ����� ��C3�� ������ C

K� /∈ clB 
 ⋃
λ��λB = C ����� B � C z
�Q� 4��# _� B �!�� =��>�34� �� K�C�� 4�C��
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z
�Q� B>}� �>A/ �� C∗ 1�C�� ������ �Y�@�#�� ��OE _� X ���	 `�E IABI:I: H��+(
(����� F���� C ⊆ X

C∗ = {x∗ ∈ X∗ : 〈x∗, y〉 � �, ∀y ∈ C}.

�� f : X → R U��� ���3+D 1�C�� ������ �Y�@�#�� ��OE _� X ���	 `�E IA:I:I: H��+(
(����� F���� (usc) ��~�� 4� ��#3F��

lim sup
x→x�

f(x) � f(x�).

(����� F���� (lsc) �����# 4� ��#3F�� �� f : X → R U��� IA;I:I: H��+(
lim inf
x→x� f(x) � f(x�).

U��� �C�� X ������ �Y�@�#�� ��OE 2� ;�-� 4���)���2 K ���	 `�E IAAI:I: H��+(
{x ∈ K : f(x) � t} 4���)� t �,�,N ���,� �� ��2�34� ����� F���� ��~�� 4� ��#3F�� �� f : K → R

4���)� t �,�,N ���,� �� ��2�34� ����� F���� �����# 4� ��#3F�� �� f : K → R U��� 
 1�C�� 4�8�
K�C�� 4�8� {x ∈ K : f(x) � t}

�� ��2�34� ����� F���� ���,� 4���)� BC�!� _� �� F : X → �Y BC�!� IA7I:I: H��+(
aK�C��3�� Y ���34���)���2 4�� ������* �Y �)��� ��d K�C�� f(x) ⊂ Y 1 x ∈ X

���,� 4���)� BC�!� (WK$ 6�C



$$ �2� 34��0� 
 �:��� X�@��D 1�Y�@�#�� 2� �����H� 
 P���:� K$K$

BC�!� 1�C�� ��O�3_� ������ f(x) 4	 �C�� ��8/34� Y 4� X 2� f BC�!� ��� IAJI:I:H��+(
KF����3�� ����,�3_� �� f

���,� 4���)� BC�!� 1��C�� �Y�@�#�� ����OE Y 
 X ���	 `�E IADI:I: H��+(
6��C V 2�� 4���)� �� 
 x ∈ X �� ��2� 4� ����� ��C3�� ������ ��~�� 4� ��#3F�� f : X → �Y

Kf(z) ⊂ V, z ∈ U �� ���� 4	 ��8/34� �C�� ��5�� x 6��C U 2�� 4���)� 1f(x)

�C��3�� K 6��C ;�-� 4���)� J����R�	 K ⊂ X 4���)� ;�-� ^qM IA>I:I: H��+(
���C3��3 ���� +��� CoK �� 


CoK = {Σn
i=�λixi : λi � �, Σn

i=�λi = �, xi ∈ K,n ∈ N}.

;�-� 3^qM (oK$ 6�C
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�(���E� )�8�9� # H���+( ;I:
(F����3�� �I��� �� ��2 =��
�H� hQ� J�� P���:� �������

KB � X∗ ���Y�@�#�� +��
� �� ^�
� �� ������ �Y�@�#�� ��OE _� X K$

KB � X 2� ;�-� 
 �0���M 4���)���2 K K'

(EP ) 9��:� 4�e8� K����!��I����� f : K ×K → R ���,� �,�,N ���L��
� U��� I:I;I: H��+(
4	3��8/34� B � x ∈ K +��	 ���#

∀y ∈ K, f(x, y) � �,
4	3��8/34� B � x ∈ K +��	 ���# (DEP ) 9��:� 4�e8� +��
� 


∀y ∈ K, f(y, x) � �.

7��2� �89+& #�
�� ����/��: �,�-.& � SK �� �) 7��2� �89+& ����/��: �,�-.& I;I;I: ��L(
������;& <��-= SD

K �� �)

(F��	3�� +��� �� 9��:� 4�e8� 2� ����39�}� +��	�

B � x ∈ K +��	 ���# aMd �2� 3F����� 4�e8� ����!� �I��� �� ψ : K → R U��� IAI;I: ,�M�
4	3��8/34�

∀y ∈ K, ψ(x) � ψ(y).

F������/ ���
∀x, y ∈ K, f(x, y) = ψ(y)− ψ(x)

K���C3�� 9��:� F��� (M) 4�e8� 
 (EP ) 4�e8�


